[image: ]
[image: ]

f_jbrise applies if respondents are employees (i.e. f_jbsemp == 1) and those who are self-employed (i.e. f_jbsemp == 2) were not asked the question as they were not eligible, therefore should be coded as ‘inapplicable’ (f_jbrise == -8).
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[bookmark: _GoBack]2,584 respondents were self-employed; however, 3,073 respondents were classified as not eligible for question f_jbrise and 489 respondents were not eligible for the question despite that they were employees.
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5 self-employed respondents under ‘current economic activity’ are classified as employees under ‘employed or self-employed: current job’.
· Categories should be mutually exclusive.

468 in paid employment (ft / pt) are employees but were classified under ‘inapplicable’ in f_jbrise variable (i.e. not asked the question whether their pay includes annual increments, f_jbrise == -8).
· What is the reason for them not being asked this question?

3 retired, 1 on maternity leave, and 12 full-time students who are employees were also not asked the question whether their pay included annual increment.

I have tried to identify who these respondents are and to establish why they were not eligible for the f_jbrise question but I am at a loss. Can you please shade some light about this for me?
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                Total         489      2,584       3,073 

                                                        

 doing something else           0          4           4 

unpaid, family busine           0          3           3 

  lt sick or disabled           0          2           2 

    full-time student          12         27          39 

  family care or home           0          9           9 

   on maternity leave           1          0           1 

              retired           3         66          69 

           unemployed           0          9           9 

paid employment(ft/pt         468        235         703 

        self employed           5      2,228       2,233 

           don't know           0          1           1 

                                                        

          activity       employee  self-empl       Total

     current economic       current job  

                           self-employed:

                             employed or

. tab f_jbstat f_jbsemp if f_jbrise == -8
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(26,802 observations deleted)

> dinub_xw > 0

. keep if (f_jbhas == 1 | f_jboff == 1) & (f_jbsemp == 1 | f_jbsemp == 2) & f_in
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                  Total       18,488      100.00

                                                            

                     no        9,161       49.55      100.00

                    yes        5,728       30.98       50.45

             don't know          504        2.73       19.47

                refused           22        0.12       16.74

           inapplicable        3,073       16.62       16.62

                                                            

           increments          Freq.     Percent        Cum.

    pay includes annual  

. tab f_jbrise
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                  Total       18,488      100.00

                                                            

          self-employed        2,584       13.98      100.00

               employee       15,904       86.02       86.02

                                                            

                  job          Freq.     Percent        Cum.

 self-employed: current  

            employed or  

-> tabulation of f_jbsemp  
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                Total      15,904      2,584      18,488 

                                                        

                   no       9,161          0       9,161 

                  yes       5,728          0       5,728 

           don't know         504          0         504 

              refused          22          0          22 

         inapplicable         489      2,584       3,073 

                                                        

         increments      employee  self-empl       Total

  pay includes annual       current job  

                           self-employed:

                             employed or

. tab f_jbrise f_jbsemp 


